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Eléﬁiéﬁtary reactions ; 2. Holding time ; 3. Frequency factor

4. Series reactions ; 5. Autocatalytic reactions ; 6. Key reactant

—. For the stoichiometry A + B — (products) find the reaction orders with respect to A and B.
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The experiment data readmgs in following table. (15 points)

Run |-ra |[CA |CB
1 50 |2 125
2 32 2 64
3 48 3 64
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Liquid A decomposes by second-order kinetics, and in a batch reactor 50% of A is converted in
a S-minute run. How much longer would it take to reach 80% conversion. (15 points)
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